
Oxidation-Reduction Practice Problems 
 
 
 
 

 
 
 
 
 
Bonus 
 
Write names for as many of the reactants and products as you can in the reactions above. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 Mg + HCl → MgCl2 + H2 

2 Fe + V2O3 → Fe2O3 + VO 

3 KMnO4 + KNO2 + H2SO4 → MnSO4 + H2O + KNO3 + K2SO4 

4 K2Cr2O7 + SnCl2 + HCl → CrCl3 + SnCl4 + KCl + H2O  

5 KMnO4 + NaCl + H2SO4 → Cl2 + K2SO4 + MnSO4 + H2O + Na2SO4 

6 K2Cr2O7 + H2O + S → SO2 + KOH + Cr2O3  

7 KClO3 + C12H22O11 → KCl + H2O + CO2 

8 H2C2O4 + K2MnO4 → CO2 + K2O + Mn2O3 + H2O 

9 Mn(NO3) 2 + NaBiO3 + HNO3 → HMnO4 + Bi(NO3) 3 + NaNO3 + H2O 

10 H2C2O4 + KMnO4 → CO2 + K2O + Mn2O3 + H2O 



Oxidation-Reduction Practice Problems Answers 
 
 
 

1 
  0     +1 -1          +2 -1        0  
Mg + 2HCl → MgCl2 + H2 
-2e-    2(+1e-)  

2 
  0         +3 -2           3 -2       +2 -2  
2Fe +   3V2O3 → Fe2O3 + 6VO 
2(-3e-)  3(+2e-) 

3 
+1+7 -2    +1+3-2        +1+6-2        +2+6 -2    +1 -2   +1+5-2      +1+6-2  
2KMnO4+5KNO2 + 3H2SO4 → 2MnSO4+3H2O +5KNO3 + K2SO4 
2(+5e-)      5(-2e-)  

4 
+1 +6 -2       +2-1           +1-1         +3-1        +4 -1       +1 -1    +1 -2  
K2Cr2O7 +3SnCl2 + 14HCl → 2 CrCl3 + 3SnCl4 +2 KCl +7 H2O  
(+6e-)         3(-2e-) 

5 
+1 +7 -2          +1-1     +1+6-2            0      +1+6-2    +2+6-2       +1-2      +1+6 -2  
2KMnO4+ 10NaCl +8H2SO4 → 5Cl2 + K2SO4 +2MnSO4 +8H2O+ 5Na2SO4 
+5e-             5(-1e- )  

6 
  +1 +6 -2       +1 -2        0        4-2        +1-2+1    +3 -2  
2K2Cr2O7 + 2H2O + 3S → 3SO2 + 4KOH + 2Cr2O3  
2(+6e-)                      3(-4e-) 

7 
+1+5-2      0   +1    -2           +1-1         +1-2       +4 -2  
8KClO3 + C12H22O11 → 8KCl + 11H2O + 12CO2 
8(+6e-)         -48e-  

8 
+1 +3 -2       +1 +6   -2         +4 -2     +1 -2       +3 -2          +1-2  
3H2C2O4 + 2K2MnO4 → 6CO2 + 2K2O + Mn2O3 + 3H2O 
3(-2e-)         2(+3e-) 

9 
  +2 +5 -2          +1+5 -2        +1+5-2        +1+7 -2     +3+5-2          +1+5-2    +1-2  
2Mn(NO3) 2+5NaBiO3+16HNO3 → 2HMnO4 +5Bi(NO3) 3+5NaNO3+7H2O  
2(+5e-) 5(-2e-) 

10 
+1 +3 -2       +1+7 -2         +4 -2     +1-2       +3 -2         +1-2  
4H2C2O4 + 2KMnO4 → 8CO2 + K2O + Mn2O3 + 4H2O  
2(-2e-)             +4e- 

 


